A TRIK

TRIK

61opo N2 2

KoOHCTpYKTOpCKoe 6topo N2

CocTaB



HAYYHUM U3OBPETATb
BYAYLUEE

HasBaHue getanu

[MnacTtuHa 1x5

MnactuHa 1xX10

MnactuHa 2x10

Yron nnockum 90°
5x5

Yron nnockmm 135°
5x5

Yron (1_1)x3

Yron (1_1)x5

BUHT M4x8

N306parkeHme

KonwuyecTBo (LUT.)

4

35

HasBaHue getanu

BUHT M4x16

BUHT M4x25

Mavka M4
dnaHueBas

Fanka M4
cTonopHasa

LLlanmba M4
HemoHoBag

Konbuo 3.4 MM

Konbuo 5 Mmm

Koneco

306parkeHme

M4x16

M4x25

(@

©

S
S

TRIK

KonuuecTso (WwT.)

12

40

10



HAYYHUM U3OBPETATb TRIK
BYAYLUEE

HasBaHue getanu N306parkeHme KonwuyecTBo (LUT.) HasBaHue getanu 306parkeHme KonuuecTso (WwT.)
. KapToHHble
MnaHwamnba oS5 2 7
LIaBIOHbI
LKkvB ° 8

Knunnca gng pyykm

LlectmrpaHHmK L-
0bpasHbIN 2.5 MM
YOTMHEHHbIN

Koy
KOMOUHUPOBaHH bl
(pasmMep xBaTa —

7 MM)

KaTyLllKa C HUTbIO
3IM

OcHoBaHWe NI
210x210 MM

OcHoBaHMe N2
210x110 MM



